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http://130.149.60.45/~farbmetrik/I[E23/IE23LONA.PS /. TXT; start output

N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)

-data u, = (A — 550) / 50
= (logDo + logPo)/2 log D, = —0,350,—u ]
=logU. +0,023  logP,= —0,35l)~Ussq

, Pol Adaptation: A, =550
563

1-30 -10
400 500 ) 7007 /nm
IE230-1N

logarithmic J , Jo-data u, = (A — 550) / 50

logJ =(log +log )/2 log  =-0,35u)\-u ]

logJo =logJ + 0,78 log =-0,35u,-u ]
Adaptation: Ay =575

10 30w

1-30 -10 1,0 3,0 W
400 10]0) [s10]0) 700A/nm
GoRo->JaJo IE230-3N
logarithmic , -data u, = (A — 550) / 50
log  =(log +log )/2log  =-0,35u\-u ]
log =log  +0,087 log =-0,35u\-u ]

s fBg Ba Adaptation: Ay =475

--73,0 —1.,0 J:,O 1.3,0 ux
400 500 600 700A/nm
ToGo->BaBo IE230-5N
logarithmic =, -data uy=(A —-550)/5
log- =(log +logUy)/2log =-0,35u)\-u ]
log- =log  +0,35  logU,=-0,350,~Uss]]
log[ , , , Adaptation: Ay, =500

1,0 3,0 W
) 7007 /nm

IE230-7N

TUB-test chart IE23; Relative elementary colour vision
Sensitivities PDT

logarithmic D , D -data uy = (\ —550) / 50
=(log  +logJo)/2 log  =-0,35u)-u
+0,196  logJo=—0,35L)~Us7g
,Jo] Adaptation: A, =538
SIS

—1.,0 ZI:,O 1.%,0 Ux
500 600 700A/nm
IE230-2N
-data u, = (\ —550) / 50
+logUg)/2log = —0,35\-u \
+0,087 logUy=—0,35L)~Uss]
Adaptation: A, =525

-1,0 1,0 3,0 W
) 600 700A/nm

IE230-4N
-data uy=@A-550)/5
+log\.)/2log =-0,35u\-u ]
+0,087 log\V,=-0,35u\~Uu-]]
Adaptation: A, =488

-1,0 1,0 3,0 W
) 600 7007 /nm

IE230-6N
-data u, = (A —550) / 502
+1logJg)/2 log = —0,35u)-u
+ 0,35 logJo = -0,35)—Us7q
,Jo] Adaptation: A, =525
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1-30 -10 1,0 3,0 W
400 ) 600 700A/nm

BoJo->MaMo IE230-8N

logarithmic , -data uy = ( —550)/ 502
log =(log- +log  )/2log  =-0,35u\-u ]
log =log +0,021 log =-0,35u\-u ]
sle]{Co; Ca; Bo; Adaptation: A, =488

c=1
+17T
=clog( / )+0,!
=clog( )+0,5

—1.,0 ZI:,O :
500 600 700A/nm
BoGo->Ca, G*, B* IE231-1N
logarithmic D , D -data u, = (A — 550) / 50
logD = (log  +logJg)/2 log = -0,35u\—u 1,
logD. =logD +0,196  logJo= —0,350)—Us7g "
log[lo, D, ,Jo] Adaptation: A, =538
575 c=1
+1T

logJ*=clo /D )+0,5

\ log =clog{ /D )+0,4

GoJo—>Da, J*, G* IE231-3N
logarithmic , -data u) = (A - 550) /50
log = (logJo+log )/2logdo= —0,35[.1,\—u575]"2
log =log +0,03 log =-0,35u\,-u ]
log[ ., ,Jo Adaptation: A, =594

> 575 c=1

log ::clom\

logJ*=clog(Jo/ )+05

1+-30 -10 1,0 _
400 <10]0) [10]0) 700A/nm
JoR'o_O'a, R*, J* IE231-5N

logarithmic , -data u, = (\ —550) / 502
log =(log  +log )2log =-0,35u)\-u ]
log =log +0,021 log =-0,35u\-u ]
log [, =5 Adaptation: A, =488
il c=-1/log [475] C=11.42

log =clog(
log - =clog(

1-30 -10 1,0 :
400 ) 600 700A/nm

BoGo->Ca, G*, B* IE231-7N

inplyt* setrgbcolor

LMS) and combinations; threshold ta=0.03utput:no change compared to input
Y

logarithmic , -data u, = (\ - 550)/ 502
log =(log: +log )2log- =-0,35u\-u ]
log =log +0,021 log =-0,35U\-u ]
lel¢] || Co; Ca, Bo, Adaptation: A, =488

c=1
+1 -—
log =clog( / )+0,
log =clog( / )+0,5

Threshold|
S=0.04

180 -1000 10 30w

400 {0]0) 700A/nm
BoGo->Ca, G*, B* IE231-2N
logarithmic D , D -data
logh = (log  +logJy)/2 log =
logD.=logD +0,196  logJo= —0,350)~Us7q"
log [Do, D, ©, Jo] Adaptation: A, =538
c_:il_ll_og]o[soo] 575 c=1.26

logJ*=clog(Jo/ )+0,5
log: =clog( /D )+0,9

\ Threshold|
S=0.04
) 3,0
600 700A/nm
IE231-4N
logarithmic , -data u) = (A - 550) / 5Q
= (logJo+ log = )/2logJo= —0,35[4A—u575]"2
=log +0,03 log =-0,35u\-u ]
Adaptation: A, =594
575 c=1

1
log =clog( / )+0,5
logJ*=clog(Jo/ )+0,5

--73,0 —1.,0 J:,O :
400 500 (10[0] 700A/nm
JoR'o_O'a, R*, J* IE231-6N
logarithmic , -data u) = (A - 550) / 5Q
log = (logJo+log )/2logdo= —0,35[1)\—U575]‘-2
log =log +0,03 log =-0,35u\-u ]
log[ , ,Jo Adaptation: A, =594
) _=-1/log [575] 575 c=4.94

~
~

log =clog( / )+0,5
logd*=clog3s/  )+0.5  /
0]

/ \ Threshold

S=0.04
1-30 -10 1,0 3,0 W
400 500 600 7002 /nm

JoR'0_O'a, R*, J* IE231-8N
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